Emon @)

INSERT NOZZLES No.E-9991
AN PM-STZ

(000 AR B-1STRY/ZSE  B-2STE/SUS416
mEmE R BRIE: SUS303
10MPa 70C

OFEE (10MPa) .

1
N
X
Mg
W
P
i
S
T
il

G G

FLid
ERAT iTEs ne A B ¢ D E F G EEg
972929 PM1B-1ST | 7/16-20UNJF = 4 23 0 64 1 127 0 37 5
”””””””””” 972930 PM1B-2ST 7/16-20UNJF @ 4 23 64 1 © 127 ¢ 37 5
e 972931 PM2B-1ST | 7/1620UNJF = 4 23 64 16 127 37 5
"""""""""" 972932 PM2B-2ST | 7/16-20UNJF = 4 23 64 - 16 - 127 . 37 5
HETOH 972933 PM3B-1ST | 7/16-20UNJF = 4 23 64 - 22 127 = 37 5
................... 972934 PM3B-2ST | 7/16-20UNJF = 4 23 1 64 22 127 ¢ 37 5
KRBT 972935 PM4B-1ST | 7/16-20UNJF = 4 23 0 3 127 4r 5
,,,,,,,,,,,,,,,,,,, 972936 PM4B-2ST | 7/16-20UNJF = 4 23 0 3 127 41 5
o 972937 PM5B-1ST | 7/16-20UNJF = 4 23 64 3 127 . 30 5
T TETHY : : : ;
972938 PM5B-2ST | 7/16-20UNJF = 4 23 64 3 127 . 30 5
”””””””””” 115885 PM1C-15T2 M8X1 41 2 64T 95 37 2
115886 PM2C-1ST2 M8X1 f41 0 2 64 16 ¢ 95 34 2
115887 PM3C-1ST1 M8X1 41 0 2 0 22 . 95 36 2
115888 PM3C-15T2 M8X1 C41 0 2 64 22 - 95 @ 26 2
115889 PM1D-15T2 M10X1 42 19 64T 127 3T 4
115890 PM2D-1ST2 M10X1 C 42 019 64 16 P 127 ¢ 371° 4
................... 115891 PM3D-15T2 M10X1 42 19 64 22 127 0 310 4
I 115892 PM5D-1ST1 M10X1 4.2 1.9 0 M3.5 12.7 26° 4
115893 PM2E-15T2 M12X1 .43 23 64 16 . 143 37 6
”””””””””” 115894 PM2E-1ST4 M12X1 © 43 0 23 318 16 i 143 26 8
Fa. WEN 115895 PM3E-1ST2 M12X1 43 23 64 22 143 37 6
~~~~~~~~~~~~~~~ 115896 PM3E-15T4 M12X1 © 43 0 23 318 22 143 @ 26 8
SEERT A8 115897 PM4E-1ST2 M12X1 .43 0 23 64 3 143 30 6
................... 115898 PM4E-1ST3 M12X1 © 43 23 128 3 © 143 30 7
LT 115899 PM4E-15T4 M12X1 43 . 23 318 3 143 26 8
,,,,,,,,,,,,,,,,,,, 115900 PM6E-15T1 M12X1 43 0 23 0 CM4 143 30° 6
%3

http://www.nabeya.co.jp



W2 EFLHEF R PM-STR

—= 11.86~120
9.88~10.08

Joeo

Ei

7/16-20 UNF

m{E B
SBTR
SBTA ﬁl
STR! I %
o 1 b

M55 Res FR RS T 4
A =5
OTHEUTEHALE,

M8X1 8.66~8.81

M10X1 10.85~11.0

M12X1 12.75~12.9
i

972939 PM-T

76X12.7X4.8"

PM-T

AZEER THCADHIE. HITEFEM.

B oE>Eh

3]

23

3

BEaun-=o

EMLTTH

AR

FR iR R B

FhE. WER



